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Trigonometry - Common Values

1. Calculate the following:
cos(30°) + sin(60°)
=3

(2 Marks)

2. Calculate the following:
12 cos(60°) — 8sin(30°)
=2

(2 Marks)

3. Calculate the following:

tan(45°) .
Sn(30%) X 10 tan(60°)
tan 45 1
: = —=2andso2X10tan60 = 2 X 103 = 20+/3
sin 30 0.5
(2 Marks)

4. Calculate the following:
tan(30°) + sin(60°)

. 1, V3 2 3 5
Answer: tan 30 + sin60 = —+ —= —+ == —

(2 Marks)
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J. Calculate the following:
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tan(30°) + sin(30°)

Answer. tan 30 + sin 30 = ! !

2 V3 2+V3
Bt2=am T

2V3  2V3  2V3
(2 Marks)
6. Calculate the following:
tan(45°) + sin(30°) .
tan (60°) X cos(45°)
Answer:
tan 45+sin 30 B 1+% V2 15 1 V2 15V2 _ 3V2
tan 60 X cos45 = ﬁXz_ X\/§X2_2\/§_4—\/§
1
(3 Marks)
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